Roval Higher Secondary School - Dhoraji P2t : 2801-25

Marks : 180
td - 12 Re NeetfSub. : Chemistry Ch:13(11)/1(12) Time : 1:00 Hour

(1) a5 wdla giaa 100.01°C diyid 656l 8. wiell 12 Hidd Ged 2»1amis 0.5 K mol™
Kg 8. 100 g well 41ddl giaami 2dsint 212214l dvay s2¢l © ?
(A) 6.023X10% (B) 6.023x102 (C) 12.046X10% (D) 12.046X10%

(2) CH,, CH,OH, CHNH, 211 CHNO, 1l Gesairt [Bigail 21158 80° 4, 65° A 184° &
2§ 212° A B, RS druid DA-umiedl Si- sy gonel uenH ¢9l ?

(A) CH, ((B)CHOH  (C) CH,NH, (D) CH,NO,
(3)  2ued wla W2, WAl [Aseu e s
(A) san T4 PAS, =0 B) xa T2l PAV,  #0

(C) »1u T >4 P AH,, =0 (D) a0 T 21 P AG,, =0

4) 2 % nouuglla giew A A gdld slaad Besanlbig 1 8 % seuruslla siu B 1L ol gravi-i
GescrlBigA uMIA SlU dl A 2 B it umedly g0 aRAAAL Asig Ul
(A) M, =4M_ (B) M,=4M,  (C) M,=8M, (D) M,=8M,

(5) 250 ml, 2M HNO, - gta@ si-iqal 52 uu Ais HNO, -l %32 u3 ? (Ais 2ilus 70 %

HNO, 8.)
(A) 70 (B) 54 wn (C) 45 wn (D) 90
6) [Rad duad DA 2udar 2u0dv wdl sl s 3 sai -l sicad Al 2 ¢dl ?
%’Y’ Q>
[\ /
= & o,/c
2 & O
X o
&
7
alecl
(A) aa-D (B) aig—-A (C) aa—B (D) aa—C
(7)  0.25 Hidd Aisdl dAad 2.5 kg rdla s1av siaar @2 yRa-u S2an sndl o33 ul ?
(A) 36.94 g (B) 24.96 g (C)125¢g (D) 27.5¢g

(8) ¥ Hizr ass Asue: 8 L wuelell ;g © Fui 2 L Mauda suesisia (dqdL 0.8 g/mL)
GRRAHL 20y 6. A3vieul wiell ol ot ¢ @A aige o181 WS sA asia dd ALl 2
drvid 53 8 2 (welld K=1.86 °C kg mol™).

(A) -11.625 (B) 10.668 (C) -12.811 (D) -10.08

9) [la usi- slael aiadl A2 olls2 X, Y 214 Z | e y3dl 2uglatini salaqmi 2udl 9.

oA ofls X well 41d 8, dl Y 44 Z ...... 4d 8,

VA

(A) Y-21euan[dHadl grav, Z—uldul¢ud gl
(B) Y-tlazl®adl siav, Z—ueuu(@adl sian
(C) Y 21 Z—unui[@dl glaw

(D) Y 24 Z—2eudi[@udl srael



(10)

(11)

(12)
(13)

(14)

(15)

(16)

(17)

(18)

(19)

A 6l Ul A 214 B 2HS ALS5A A2 U UAH Gesan i otid .

(A) A-B a3 wikzulRs Buizil A—A 24l B-B a23-l wiuRs Buil sdi ag uen 8.
(B) s1ai ouvy 6uR1 afl 69 51201 5 Ul A 214 B L ag vl i siaanidl g2 a8 a3 o,
(C) s1avid ouvud souat 82 8 s128 3 giagmidl Hist 2is uadl 2191 Avaiui 20210 €2 45 A3 9.
(D) A-B @23l wirzuRs [Buizii A—A 219a1 B-B ad-l wikrulRs Buivil s Reln 9.
siad T Hi 8192 ydol A sia I1 | du-l 2iis ud WA 51 24 A4a, [Aseu wrie s3U

sian I (ydoal) sian 11 (qwas)

(A) wssi @) 10°

(B) 3+ (i) 1073

(C) hdl (iii) 1072

(D) <llow (iv) 107

(A) (A-i),(B-ii), (C-iii), (D-iv) (B) (A-ii), (B-i),(C-iv), (D-iii)
(C) (A-iv), (B-iii),, (C-i), (D-ii) (D) (A-iii), (B-iv), (C-ii), (D-i)

DAl 56 A Aes wwadl Rad sald © ?

(A) PH,, HCl  (B) PbO, PbO, (C) H,S,SO, (D) CuCl, CuSO,

AU dAlUHIA 249 5618 A €35 Ayl 10 g Al 2ud dl DA-umiedl st iy se Al 2408 €9l ?
(A) CO, (B) N, (C) CH, (D) HCI

NTP % 1L O, 2 3 L steit Hirisuss 0d ulda 52 8. ulbu ugl CO »14 CO, d s¢ 324
8ol ?

A 1LCO,1LCO, (B) 2L CO, 2 L CO,

(C) 2L CO, 1L CO, (D) 1LCO, 2L CO,

[Qanq : % ulzas {iA wenni s12R ¢ia 8 d Duay-l wend “ailzd 52 9 dd ARa ulBus s o,
s10L ¢ oidd fluordl Hen el 2ndar wlEasdl wen v 2uaRd Al

(A) Q& 24 5@ 6id AL 9 21 51200 2 [QeuA-l =)l anegdl ©.

(B) (At 24 5120 i L 8 u3d s A (el el amogdl el

(C) [Ranq A © ua sReL viE 8. (D) [Qa 27 s12a1 oA viley 8.

AA-amiedl 55 uBanui wslusu uld am uead 2BuY aud ?

(Fe=56, 0=16, Mg=24, P=31, C=12, H=1)

(A) 4Fe +30,, - 2Fe,0, (B) 2Mg,_, + 0O, , —2MgO

(s) (s) (8) (s)

(©) P, +50,, > PO, (D) C;Hy, +50,, —>3CO,, +4H,0,,

50 ml 1 M H,PO, %1 100 mL 2M H,PO, 1 d222 s2a1 W2 1 M NaOH d 55 s¢
AUASH ... 8.

(A) 100 mL 243 100 mL (B) 100 mL 13 200 mL

(C) 100 mL #13 50 mL (D) 50 mL 211 50 mL

Ca,(PO,), i H,PO, i e sl vl it i, di d oid 2Bueq uuaHl
ARl S2al Ay ?

2 -+ 3 3
A) 3 (B) 3 © > D) 4
100 mL aRui-l giai aRui-l 6.02X 1020 291 €152 9. glaR-l Algdl eudl.
(A) 0.001 M (B) 0.01 M (C) 0.1 M (D) 0.02 M



(20)

(€2

(22)

(23)

(24)

(25)

(20)

@7)

(28)

(29)

(30)

(€2

(32)

(33)

AA-uniofl su1 dra A 2nad- wRsHIS Wl AdML salda © ?

(A) Z=19 »1 Z=38 (B) Z=12 w3 Z=17

(C) Z=11 1 Z=21 (D) Z=16 21 Z=35

88 UHWASHIS GAAd dTd sl AHed 8 ?

(A) uys 12 (B) uyg 17 (C) uys 10 (D) uyg 2
AA-umidl sul aye anSasai-la 2=l AAs % 53 O ? (umedly suis : Cs-55, Br-35)
(A) Na*, Ca*, Mg** (B) N°>7, F,Na*

(C) Be, AI’*, CI (D) Ca**, Cs*, Br~

DAmidl sar davaini A ag sna-dlse Gl sl ?

(A) 1s? 2s? 2p° 3s! (B) 1s? 252 2p° 3s2 3p°®

(C) 1s% 252 2p°® 3s% 3p‘ (D) 1s? 252 2p° 3s2 3p!
2uadui sieflell gHell drs ...

(A) 2is06sD Gldsd a8 8. (B) 2usudsHl oildsdr 92 .

(C) 2issi @ciani Rulid aae 42l (D) el 2 Aus-L 2RSS o |d ofls sl 8.
AudasaiRa llly euqni @, Na*, Mg?t, F~ 214 0% dusll Bl deusS aqizaid ail 4
sl 6 ?

(A) F<O*<Mg?*<Na* (B) Mg**<Na*<F <O*
(C) O* <F-<Na*<Mg?* (D) O* <F-<Mg?*<Na*
DA auSaszis NDosidl 2uala Bosuidl Gddl Al 54 9 s ?
(A) Ca**>K*>S8*>CI” (B) CI'>S$*>Ca**>K*
(C) $*>ClI'>K*>Ca** (D) K*>Ca**>Cl >S8*

119 uHedla suis 4nqdl drasd TUPAC -um 9 © ?
(A) ununennium (B) unnilennium (C) unununnium (D) ununoctium
AA-umigdl sul YRHRSHISAL RS WAL sl dral Gd © ?

(A) 37, 42, 50, 64 (B) 21, 25, 42, 72

(C) 9, 17, 34, 38 (D) 21, 32, 53, 64

siad T i 200a 255 A slam 11 1l 200 ARl uE Awdl.
DICKTRS | siau-—II

() Na,O (A) d2a

(i) ALO, (B) 6il»s

(i) N,O (C) ARRs

(iv) CLO, (D) Gaandl

DA-umiodl sul [QAseu 2wl © ?

(A) (i-B), (ii-A), (iii-D), (iv-C) (B) (i-C), (ii-B), (iii-A), (iv-D)
(C) (i-A), (ii-D), (iii-B), (iv-C) (D) (i-B), (ii-D), (iii-A), (iv-C)

211 dretidl [Qadsreidid A3dl $HuL dAsal.

(A)C,N,Si,P (B)N,Si,C,P (C)Si,PC,N (D)BSiN,C

Gl A 2LUSHAL GIMMESIRL 2450 16 torr 2R GO torr 8, =l uA S AL AHHIAR
LRl A AUSHL 6N, ARAIHE AL 2QSAL HIA i Sean 8 ?

(A) 0.50 (B) 0.6 (C) 0.21 (D) 0.78

310 K druid il siltaze soust 7.65 atm 9. dldl a1e anif@udd oasin sdla giaa-l
astaldl (axn/se) sedl ¢ ?

(A) 5.41 (B) 3.45 (C) 4.53 (D) 53.4
AA-umidl sa B [Qewa RRieq g1 ws q2siui xadn 539 asa 9 ?
(A) GlFan—-2ieus (B) wsll-Sada suesisia

(C) wel—usdls »ils (D) wel-s18siscidls 2Alkus



(34)

(35)

(30)

(37)

(38)

(39)

(40)

(41)

(42)

(43)

(44)

(45)

CH,COONa -1 A2 %ella giagil A, B, C e-idd 8. du-ll disdl 1154 0.01 M, 0.001 M
S dl dir26ls 2A9ua (1) HI2HL ARAL $H ... :

@i<i>i.  ®i>i>i.  (©i=i=i. (D)i<i,<i

sul glaRMl gied uadl 6 A glas ay & ?

(A) daARuMul 1S glael (B) -usaios iy wd Mg s34 salisid

(C) S UyHi $Y2 (D) Wl gicu 2da Al

5 % V/V Aigdl 41ad Sa-iad 2 Q22 gdla gl siriaan sean [Pl Sa-ia-l 32 us ?
(A) 200 ml (B) 100 ml (C) 50 ml (D) 111 ml

AU 6 dral X 21 'Y 50 % ~w etiaui d 9. X' 4 umedly g0 20 8 w14 'Y' 4
uwuedla 40 8. d-d Al g Yo 8 &S a3 ?

(A) XY (B) X,Y (C) XY, D) X,Y,

4.88 g 11l KCIO, 1 2R% $d1 1.92 g O, 11 2.96 g KCI et 8. 211 w2t isiféd
AA-umill sy (e w0 © ?

(A) 20 uRwa e Auun [Ruud gald 8.

(B) 20 uRwa s wser Ran said 6.

(C) 21 uReud AR wxl Raw sald o,

(D) i ua Rand 29644 -l

100 2 welui 10 ud NaOH 2touelld ot-idan giani Hiculad) g a9 ?

A) 2.5m (B) 5m (C) 10 m (D) 1.25 m

4NH, , +50,, —>4NO, +6H,0, uBuwi wuR 1 Hid sRw 213 1 Hia 0Bucsq

ulzu 52 AR ... :

(A) 1 3ia well oA 8, (B) 1 Hida NO &4 8.

(C) el [ aua %l (D) 18l HuRaL av s,

Sl s 51 qaRal W2 Y2Udun Gal s wEu 0 oo an 9

C.H,, - C,H, +3H,

W uBuHl 6 idgisieit wadl suR wis H) iy a3l 8. 6uadl wBumi uadlu ay-wui
gaisidll 251l sedl ¢al ?

A) 6.1% (B) 0.61 % (C) 0.939 % (D) 9.39 %

WRABAIR AAS1SA BeAusUl Se (MR — 78.4) -l gn 2s1cul 0.5 9, di WRABAIR
IS5 GRAASL ALHL 9L BuRdly g Ul

(A) 2.136X10°  (B) 1.568x10° (C) 15.68 (D) 1.568%10*
AA-umill s34 (e w0 © ?

(A) 3d 214 4d AL drld Buadui AR AUl 20d 9.

(B) 4f 214 5f el drelid 2nadii 2101 Avami 2ud 9.

(C) 5p ¥4 6p Al dralid 2uadHi 24401 Avcmi 2ud 8.

(D) veu [Qeun e €.

A2 200 dretiqil M3~ 2iaq sisdidl glami 2di aaiRidl 51 oeudl ?

(A) Bi>Sb>As>P>N (B) Bi<Sb<As<P<N

(C) N<P<Sb<Bi<As (D) Bi>Sb~N~P>As

Ao 2uadHi 2usud s ARBsAAL Al $H...

(A) SiO,<P,0, <SO,<CLO, (B) CLO_<SO,<P,0, <SiO,

(C) SO,<CLO,<P,0, <SiO, (D) Si0,<CLO_<P.0, <SO,



